Inequality Word Problem Set
Name_____________________________                                                  Block R Y B G
Round 3
3A) Jason’s long distance company charges $5.95 per month plus $0.06 per minute. If Jason has budgeted $30 for long distance, what is the maximum number of minutes he can call long distance per month?


3B) A school’s Spanish club is selling printed tee shirts to raise money for a trip. The printer charges $150 in advance plus $3 for every shirt ordered. If the club sells tee shirts for $12.50 each, at least how many shirts do they need to sell to make a profit?


3C) A concert is being held in a gymnasium that can hold no more than 550 people. A permanent bleacher will seat 30 people. The event organizers are setting up 20 rows of chairs. At most, how many chairs can be in each row?



Round 4
4A) Sara goes to Fredonia University. She has $900 in her savings account. She needs to buy a small laptop computer before the next semester. The laptop costs $600. Every 2 weeks she withdraws $60 from her savings account for food. Write and solve an inequality to show the maximum amount of times that Sara can withdraw money for food.


4B) You want to rent a limousine for a trip to the city. The limo costs $700 for the night and an additional $0.15 per mile. You have $750 to spend. Write and solve an inequality to show, at most, how many miles can the limo travel.


4C) Jessica is getting ready for college. She needs to have an overall grade of 85 in her math class to qualify for the college that she wishes to attend. Her math grade is based solely on her scores on 6 exams. On the first 5 exams her scores were 87, 81, 85, 90 and 78. What is the lowest score she must she make on her final exam to qualify?

Round 2
2A) Josef is on the planning committee for the 7th grade holiday party. The food, decorations, and entertainment costs a total of $350. The committee has $75 in the treasury. IF the committee expects to sell the tickets for $5 each, at least how many students must attend the dance in order to pay the DJ?


2B) Kate has $5.00. Bagels cost $0.65 each, and a small container of cream cheese costs $1.00. What is the greatest number of bagels Kate can buy if she also buys one small container of cream cheese?


2C) The 12 members of the Bailey Filmmaking Club need to raise at least $1,400 to make a short film. They have already raised $650. How much more should each member raise on average?



Round 1
1A) Brice has $30 to take his brother and his friends to the movies. If each ticket costs $4.00, and he must buy tickets for himself and his brother, what is the greatest number of friends he can invite?


1B) Chris has $33.96 in a savings account. At his bank, you must have a minimum balance of $50 in your account to avoid a fee. How much money must Chris deposit in order to reach or exceed the minimum balance?


1C) The student Council must pay a DJ $275 to work the End-of-year dance. Each student ticket costs $5.50. The amount of money received from ticket sales must at least cover the cost of the DJ. How many students must attend the dance in order to pay the DJ?










